. Fa—TT71vF1V PP MR+ SUS303483

af

HMEI

Claatsld ARU—h~  RIUBME R AT VU AFIFSUS303

X=NLRIZTAT

AT —) RIS T

gD

M
. ==

\‘,1 | Ol 1

| ‘ | m
'ﬁ_'l

(] =

U,

A=NLRITAT

BS( © mm

Bl l_”*&ﬁ_’l’“wm&
iz
(Qmm) (¥)

'SPPC4-M3SP | M3x0.5 20.1 720
SPPC4-M5SP 4 M5x0.8 3 20 17 14.9 10 1. 8 610
SPPC4-01SP R1/8 8 21 7.5 3 590
SPPC4-02SP R1/4 11 15 14 15 700
SPPC6-M5SP M5x0.8 3 22.1 19.1 12 8.3 1.8 730
SPPC6-01SP 6 R1/8 8 22.6 18.6 17 8.4 670
SPPC6-02SP R1/4 11 24.6 18.5 14 16 4.6 730
SPPC6-03SP R3/8 12 23.6 17.2 17 25 750
SPPC8-01SP R1/8 8 27.9 23.9 14 14 6 780
SPPCB8-02SP 8 R1/4 11 26.6 20.6 18.2 7 810
SPPCB8-03SP R3/8 12 23.9 17.6 17 21 830
SPPC10-02SP R1/4 11 29.8 23.8 18 980
SPPC10-03SP 10 R3/8 12 29.3 23 207 17 24 8.5 990
SPPC12-03SP R3/8 12 31.9 25.6 32 1,180
SPPC12-04SP 12 R1/2 15 33.9 25.7 23.3 21 46 1 1,170
T —)\RIZTATDLIEIF. QUBITROSETETY,
Sggigsld TIUR RUBBME 5% AT VU AKZFSUSI03

E

C

Y
[aToulinm. B
=
—
H o
e S R,
RIGAT ERT—)\RIFALT
A—=NILRIZGAT
1_L mm

SIS RN
(g) (ﬂmm) (¥)

SPPL4-M3SP | M3x0.5 19.8 223 750
SPPL4-M5SP 4 M5x0.8 3 20.3 10 14.9 18 10 6.9 1.8 680
SPPL4-01SP R1/8 8 23.3 24.3 ' 9.5 28 650
SPPL4-02SP R1/4 11 26.3 25.3 14 18 ' 750
SPPL6-M5SP M5x0.8 5 22 253 12 11 1.8 770
SPPL6-01SP R1/8 8 25 27.3 13 740
SPPL6-02SP 6 R1/4 11 28 28.2 12:5 16.8 19.8 14 19 4.6 800
SPPL6-03SP R3/8 12 29.8 29.7 17 31 820
SPPL8-01SP R1/8 8 28 31.3 14 16 800
SPPL8-02SP 8 R1/4 11 31 32.2 14.5 18.1 22.7 21 6 800
SPPL8-03SP R3/8 12 32.8 33.7 17 33 820
SPPL10-02SP R1/4 11 36 38.7 30 920
SPPL10-03SP 10 R3/8 12 37 39.4 175 202 262 17 37 8 910
SPPL12-03SP R3/8 12 39 43.2 46 1,230
SPPL12-04SP 12 R1/2 15 42 44.3 21 234 294 21 60 10 1,320

XT—)(RIFGATDLEF. RUMNLITROSELETT,

@lra(Laen) 10m/ 1 sErbiE:. 156501 Boofacs.) i



